## City of Scottsbluff, Nebraska

Monday, November 20, 2023 Regular Meeting

### Item Bids2

Council to discuss and consider action on awarding the 6th Avenue Emergency Water Main Replacement to Infinity Construction in the amount of \$179,065 and authorize the use of contingency funds to cover the project costs.

Staff Contact: Mark Bohl, Public Works Director

#### Agenda Statement

Item No.

For Meeting of: November 20, 2023

**AGENDA TITLE:** Council to consider awarding the 6<sup>th</sup> Avenue Emergency Water Main Replacement to Infinity Construction in the amount of \$179,065.00, and authorize use of contingency funds to cover the project costs.

SUBMITTED BY DEPARTMENT/ORGANIZATION: Public Works

PRESENTATION BY: Kevin Spencer, City Manager

SUMMARY EXPLANATION: Three bids were received to replace the water main on 6th

Avenue between East 27th Street and Park Lane. They are from:

Infinity Construction \$179,065.00 Eric Reichert Insulation & Construction \$261,156.51 Paul Reed Construction & Supply \$395,738.73 Engineer's Estimate \$234,715.00

M.C. Schaff & Associates have reviewed the bids and provided a letter recommending award of this project to Infinity Construction in the amount of \$179,065.00. We request approval from Council to use contingency funds to cover the cost of this emergency water main replacement.

BOARD/COMMISSION/STAFF RECOMMENDATION: <u>Staff recommends that Council award the project to Infinity Construction in the amount of \$179,065.00 and authorize use of contingency funds to cover project costs.</u>

Does this item require the eare funds budgeted? If no, comments:		xpenditure of funds?X yesno yes X no <u>We budgeted \$600,000 in contingency funds for unplanned</u> emergency project costs.							
Estimated Amount Amount Budgeted									
Department Account Descrip Approval of fund	otion <u>Con</u>	Water Contingency Funds							
		City Finance Direc	tor						
EXHIBITS									
Resolution □ Other (specify)									
<b>NOTIFICATION LIST:</b> Yes □ No □ Further Instructions □ Please list names and addresses required for notification.									
APPROVAL FOR	R SUBMITTAL: _	City Manage	er						

Rev: 12/14/ City Clerk

# providing Simply Smart Solutions

www.MCSfamilyofcompanies.com

November 13, 2023

Honorable Mayor and City Council City of Scottsbluff 2525 Circle Drive Scottsbluff, NE 69361

RE: 6<sup>th</sup> Avenue Emergency Water Main Replacement

Dear Mayor and City Council:

Proposals were received and opened at 3:00 p.m. on November 13, 2023 at the M.C. Schaff & Associates office in Scottsbluff, Nebraska for the above referenced project. A total of three (3) proposals were received. The bid tab is attached for your review. The bids received were as follows:

	Total Bid	<b>Anticipated Start Date</b>
Infinity Construction	\$179,065.00	11/27/2023
Paul Reed Construction & Supply	\$395,738.73	12/11/2023
Eric Reichert Insulation & Construction	\$261,156.51	11/27/2023
Engineer's Estimate	\$234,715.00	

We have reviewed the contractor's bid document and would recommend award of the project to Infinity Construction in the amount of \$179,065.00.

Sincerely,

FOR THE FIRM OF

M.C. SCHAFF & ASSOCIATES, INC.

Michael Olsen, P.E.



#### M.C. Schaff & Associates, Inc.

818 S Beltline Highway East Scottsbluff, Nebraska 69361 308-635-1926 Phone 308-635-7807 Fax www.mcschaff.com

6th Avenue Water Main Replacement			Infinity Construction		Paul Reed Construction		Eric Reichert Insulation & Construction					Engineers Estimate					
City of Scottsbluff			522 5th Ave, PO Box 2453		2970 N. 10th Street		1502 19th Ave										
Proposal Date: November 13, 2023 @ 3:00 PM Mountain Time				Scottsbluff, NE 69361		Gering, NE 69341		Scottsbluff, NE 69361									
No.	Description	Unit	Quantity	Unit Cost		Total	Unit Cost		Total		Unit Cost		Total	Ų	Init Cost		Total
1	Mobilization	LS	1	\$ 8,000.00	\$	8,000.00	\$ 16,320.62	\$	16,320.62	\$	29,059.40	\$	29,059.40	\$	25,000.00	\$	25,000.00
2	8-Inch PVC Water Main	LF	840	\$ 45.00	\$	37,800.00	\$ 86.47	\$	72,634.80	\$	58.24	\$	48,921.60	\$	60.00	\$	50,400.00
3	6-Inch PVC Water Main	LF	35	\$ 45.00	\$	1,575.00	\$ 122.27	\$	4,279.45	\$	61.82	\$	2,163.70	\$	55.00	\$	1,925.00
4	8-Inch Wet Tap and Valve Box	EACH	1	\$ 4,560.00	\$	4,560.00	\$ 20,634.67	\$	20,634.67	\$	3,308.15	\$	3,308.15	\$	5,000.00	\$	5,000.00
5	Connect to Existing Main	EACH	2	\$ 2,000.00	\$	4,000.00	\$ 1,949.98	\$	3,899.96	\$	2,221.42	\$	4,442.84	\$	2,500.00	\$	5,000.00
6	8-Inch RSGV & Valve Box	EACH	2	\$ 2,800.00	\$	5,600.00	\$ 3,768.30	\$	7,536.60	\$	2,637.80	\$	5,275.60	\$	3,500.00	\$	7,000.00
7	Fire Hydrant and Aux Valve and Valve Box	EACH	2	\$ 6,225.00	\$	12,450.00	\$ 14,460.98	\$	28,921.96	\$	6,172.67	\$	12,345.34	\$	7,000.00	\$	14,000.00
8	Fittings	LBS	630	\$ 5.00	\$	3,150.00	\$ 20.88	\$	13,154.40	\$	9.02	\$	5,682.60	\$	10.50	\$	6,615.00
9	1-Inch Service Connection	EACH	15	\$ 1,200.00	\$	18,000.00	\$ 2,752.45	\$	41,286.75	\$	1,321.05	\$	19,815.75	\$	1,000.00	\$	15,000.00
10	1-Inch PE Service Piping	LF	375	\$ 36.00	\$	13,500.00	\$ 72.21	\$	27,078.75	\$	119.83	\$	44,936.25	\$	25.00	\$	9,375.00
11	Remove Fire Hydrant	EACH	1	\$ 500.00	\$	500.00	\$ 5,111.08	\$	5,111.08	\$	1,844.28	\$	1,844.28	\$	1,000.00	\$	1,000.00
12	Abandon Existing Main	EACH	1	\$ 2,000.00	\$	2,000.00	\$ 3,872.25	\$	3,872.25	\$	1,635.00	\$	1,635.00	\$	1,000.00	\$	1,000.00
13	Remove Pavement, Curb, Sidewalk, etc.	SF	8200	\$ 1.00	\$	8,200.00	\$ 3.78	\$	30,996.00	\$	1.59	\$	13,038.00	\$	2.00	\$	16,400.00
14	6-Inch PC Concrete Pavement	SF	7000	\$ 7.00	\$	49,000.00	\$ 14.49	\$	101,430.00	\$	7.23	\$	50,610.00	\$	9.00	\$	63,000.00
15	30-Inch PC Concrete Curb and Gutter	LF	150	\$ 25.00	\$	3,750.00	\$ 41.44	\$	6,216.00	\$	39.92	\$	5,988.00	\$	30.00	\$	4,500.00
16	5-Inch PC Concrete Sidewalk	SF	1000	\$ 5.78	\$	5,780.00	\$ 11.53	\$	11,530.00	\$	6.64	\$	6,640.00	\$	7.50	\$	7,500.00
17	Handicap Ramp	EACH	2	\$ 600.00	\$	1,200.00	\$ 417.72	\$	835.44	\$	2,725.00	\$	5,450.00	\$	1,000.00	\$	2,000.00
	Total Bid - Items 1 Thru 17			\$		179,065.00	\$		395,738.73	\$			261,156.51	\$			234,715.00
Anticipated Start Date						11/27/2023			12/11/2023				11/27/2023				

Project Number: RM230283-00